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g Heg- (General Instruction)
» Candidates are required to give their answers in their own words
as far as practicable.
el JAIWG 379 TGl H SR < |

» The total number of questions is 19.

Fel ULl B FEAT 19 B |

» Question number 1 to Question number 7 are very short answer
type questions. Answer any five of these questions. Each question
carries 2 marks.

U AT 1 W U T 7 dF JMfd g SR U € | g
I fol Ui Ul & IR QAT | e U9 &I A1 2 3id
fRefRa 21

» Question number 8 to Question number 14 are short answer type
questions. Answer any five of these questions. Each question
carries 3 marks.

Ue T 8 W U WA 14 % oY SR U 21 3 |
f2l Ui Uedl & IR QIR | Ud U & 919 3 3 FeiiRa

=

» Question number 15 to Question number 19 are long answer type
questions. Answer any three of these questions. Each question
carries 5 marks.

o G715 I YT I 19 T o" IR U 2| 38 9
fopsl TF Ue9l & SR IV | U 99 &l 9149 5 3 FeifRd
=
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10.

Section-A (EUs-31) (2 x5 =10)

X
If al + 7 = ar find the value of x.

1 1 X
g E+%=§,ﬁxmqﬁ§ﬁa§|3Q|

If n'" term of a sequence is a,, = 4n — 3, then find a;; and a,,.

i U AgHH BT ndl US a, = 4n — 38, T a,; AR ay, AT DI |

Find the slope of the line passing through the points (3, -2) and (-1, 4).
S Xl B A AT DIY ST (3, -2) Ta (-1, 4) g1t & gar Il 7 |

Find a point on the X-axis, which is equidistant from the points (7, 6) and (3, 4).

X- 38T W U fdg S HIRTT ST (7, 6) 3R (3, 4) figell & w91 0 R T

Find the co-ordinates of the focus and the length of latus rectum of the

parabola y? = 12x.
WRITT y? = 12x & A1 & <9 Ud A1facd a1 & ofdrs T iy |

Name the octants in which points (1, 2, 3) and (-4, -2, -3) lie.
I IrCTel & AW gagy o 635 (1, 2, 3) 3R (-4, -2, -3) Rerd €

A coin is tossed repeatedly until a head comes up. What is the sample space for this
experiment?

U RIgd Bl IR—IR Td TP IBTT ST & Od P 9 WX T Ybe | 8 T | 39
QR0 HT ufaeel FAfe a1 grfi?

Section-B (WUs-9) (3 x5 =15)

How many 5-digits telephone numbers can be constructed using the digits O to
9 if each number starts with 57 and no digit appears more than once?

0¥ 9 db & 3idl BT YIRT BIP fhd™ 5 FBII SollBIF dex g910 ST Fbd &, Il
JJP Ha) 57 F YRY BT & 3R Ble 3(h e IR A 3Afeh =81 3T 2 |

Find the sum of all natural numbers lying between 100 and 1000, which are multiple
of 5.
100 TAT 1000 & HeI S | UTdhe A3 BT ANTHA ST DI ST 5 B T[0T & |

Line through the points (—2,6) and (4, 8) is perpendicular to the line through the
points (8,12) and (x, 24). Find the value of x.

(—2,6) 3R (4,8) fdgali &I fyerr arell Y@ (8,12) 3R (x, 24) fdgaii &1 fyem
qrell YT W ofd & | x BT A A1 DIy |
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11.

12.

13.

14.

15.

16.

17.

18.

19.

Equation of a lineis2x —3y — 6 = 0. Find its (i) slope, (ii) x-intercept and
(iii) y-intercept

UH XET BT FHIGO 2x —3y—6=07%| 39 (i) <7, (if) x-37d: S
(iii) y-37T:TUE ST DIFSY |

Find the equation of the ellipse, whose vertices are (£6, 0) and foci are (£4, 0).

I EHgA BT FHISROT ST DI, [ A9l & Fiqenad (4£6,0) dor iwl &
ferdene (+4,0) |

Show that points (0,7,—10), (1,6,—6) and (4,9,—6) are the vertices of an
isosceles triangle.

feamy f&» g (0,7,-10), (1,6,—6) 3R (4,9, —6) & FHfgag et & oY &

Two cards are drawn at random from a pack of 52 cards. Find the probability that both
the cards are of red colour or they are queen.

qrer o TS B 52 UK W W &I UK I1geedl MdbIel WA § | QM UK Al g4 AT
T 819 &7 UTRIhdT S dIfoTg |

Section-C (QUs-9) (5x 3 =15)

From 6 gentlemen and 4 ladies, committee of 5 is to be formed. In how many ways
can this be done if (i) there is no restriction? (ii) the committee is to include at least
one lady?

6 TV 3MR 4 AR § & 5 @& HHS 9+ 2| Ig fhas 0@t | fBar o & §
Ife (i) pis gfqder 81 27 (i) PHST H HH I HH TP Hidl Bl I HRAT 87

The sum of three numbers in G.P. is 56. If we subtract 1, 7, 21 from these numbers in
that order, we obtain an A.P. Find the numbers.

fp=fl TqoTR 1ol & W9 UGl BT AT 56 © | Tl BF HA A 39 AR H I 1, 7, 21
Ty, d 88 Udh FHiaR il U B ® | A Sid ST |

Find the equation of the line perpendicular to the line x — 7y + 5 = 0 and having x
intercept 3.

NGT x — 7y + 5 =0 W od 3R x - A:ES 3 dTell @I BT FHIGROT ST HIFTT |

Find the equation of the circle with radius 5 whose centre lies on x- axis and passes
through the point (2, 3).

B 5 @ 9 I BT FHIGROT A1 BISTY RSTABT s x- & W 8l AR Sl fdg
(2,3) & ST B

If A and B are two events such that P(A) =0.54, P(B) = 0.69 and P(A n B) =0.35. Find:
(i) P(A') (i) P(AUB) (iii) P(A’nB’) (iv) P(ANB’) (v) P(BNnA’).
geq A 3R B 39 UHR © f& P(A) = 0.54, P(B) = 0.69 3iR P(A n B)=0.35d SId
PITY :
(i) P(A’) (i) P(AUB) (iii) P(A’ nB’) (iv) P(ANnB’) (v) P(BnA’).
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